4

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

l6X M3 SCREW,RECOMMENDED
TIGHTENING TORQUE 0. 5Nm
[6X M384 ##4%4%0 . SNm

REVISIONS

DESCRIPTION DATE DWN APVD

A INITIAL RELEASE

140072016 | YO |[CW

NOTES:

]

34.5

4X M3 SCREW,RECOMMENDED TIGHTENING TORQUE 0.5Nm

M4 SCREW, RECOMMENDED TIGHTENING TORQUE |

. Z2Nm

-
()
w
FS

T
o
~
o

)|

N

I

Z

N\
)
&/

N

)
7\
&/
{7\
\
17\
\:-/

©)
NSZ
©
N

€

\J
ISAOK

€

:
0
9
0

4:}% A

N4
7))
N\
0
N4
7))
©)
N4
D)
2
©)
N4
7\

S

= =
o
ad
AX M3Bz ##4%450 . 5Nm
MARL BEsEAE] . 2Nm
5 685 _
O o A
WO
o

PANEL CUT FOR [INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS
Mg s 4 o bt X 2 T 3L

\m S A
@n‘] 9 10 11 1@3 14 15 16

1

!
11.9

EAImT

4

TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC

RATED VOLTAGE: 500V

RATED CURRENT: [I6A

INSULATION RESISTANCE: >=400M()
RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3

FLAMMABIL ITY: UL94V-0

MATING CYCLES: 500 CYCLES

WIRE RANGE: O0.5mm2~2. 5mm2 (AWG20-AWGI4)

CONTACT TYPE: SCREW CLAMP (M3)
V% o
| . BASH

wagma . PC

grekE: 500V

Frwm: |0A

swgwl . >=400M(O)

fxrwE: 6KV

ERER . 3

EmEg: UL94V-0

wra%: 500 %

#g4%8: 0. 5mm2~2 . 5mm2 (AWG20-AWG14)

FgAM . BuFEE (M3I)

GOLD PLATED CONTACTS
HE-016 FEMALE [NSERT,GOLD PLATED

12040162211-000 | HE-016-FG HE-016 #5 #a

PART NUMBER

PART DESCRIPTION

37044

MATERTAL

FINISH

WEIGHT

A3

00779

GC=T2040162211000

# g ¥ #
THIS DRAWING IS A CONTROLLED DOCUMENT. |DWN 140CT2016
YORK CHEN [ o
CHK 140CT2016 — ’E TE Connectivity
DIMENSIONS: 0g&%ﬁ£§§h%h¥&- AngE ZENGWAOCT2016 NANE
mm ~ [CHRIS WANG HE-016-FG
0 PLC 4- PRODUCT SPEC
€§>{::::}; S 108-137044
3 PLC +- APPLICATION SPEC
4 PLC +- SIZE CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES +- 1 W 47’W

CUSTOMER DRAWING

SCALE

SHEET

101

OF

REV
A

1470-19 (3/13)




